Print date: 30-5-2023

Proline 6100 Exi
Nr. Item code Description Special instructions Quantity
DO HOP-KEY-EXI Key housing EXi 1,0
DO HOP-CA-GLAND-NUT-M16-BLUE Cable gland and nut M16 blue 1,0
DO HOP-CA-GLAND-NUT-M12-BLUE Cable gland and nut M12 blue 1,0
D3  SA-LC-1000-M-350 Subassembly, load cell 1000 M 350 Ohm, humidity protected 4,0
D4 SAP-MP-BOLT-M12-40-CYL Subassembly, Bolt M12 x 40 socket head, 8 pieces 8,0
D5 MP-BOLT-M12-60-CS-STST Bolt M12 x 60 countersunk stainless steel din7991, A2 Needed for stainless steel ssytems or systems with stainless steel fork shoes 2,0
D7 MP-NUT-M12-LOCKNUT-STST Nut M12 lock nut stainless steel din985 A2 Needed for stainless steel ssytems or systems with stainless steel fork shoes 2,0
D8 BA-IN-61-EXI-24AH Battery 24Ah indicator 6100 (IT3000EX), EXi Exchange from 16Ah to 24Ah battery, HOP-HOL-BA-IN-61-EXI-24AH-STST and ( 1,0
D15 CH-IN-61-EXI-24AH Charger EXi battery 6100 (IT3000 EX) 24 Ah Required with exchange from 16Ah to 24Ah Battery 1,0
D18 IN-61-EXI Indicator 6100 RAVAS (IT3000 EX), EXi 1,0
D75 PT-A-RAL3000 Pallet truck Almeborg 1150x550, RAL 3000 1,0
D77 PTP-A-HANDLE PT-A Handle complete Almeborg chassis, standard version 1,0
D78 PTP-A-WH-ST-AS-180 PT-A Almeborg wheel steering anti-static 3180 mm, bearing 1,0

Product changes reserved

12



Print date: 30-5-2023

Nr. Item code Description Special instructions Quantity
D80 PTP-A-REP Repair kit for painted/semi stainless hand pallet truck 1,0
D81 FS-A-STST Fork shoes Almeborg stainless steel Option: stainless steel fork shoes for painted systems 1,0
D92 SAO-EP-LEVELSWITCH-EXI-C3041 Subassembly, Levelswitch EXi with C3041 chip Option: legal for trade 1,0
D95 MP-RING-M12-STST Ring M12 stainless steel din125A RVS A2 2,0
D100 HOP-MP-U-HI-END-RAL3000 Mounting part High End bottom housing universal RAL3000 1,0
D116 SAP-MP-LC-FLEXIBLE-V5-STST Subassembly, Load cell flexbolt, stainless steel with M8 nut :;’;Z::’""'ess steel systems and systems with stainless steel fork 2,0
D119 SAP-MP-BASE-ROTATING Subassembly, set rotating base indicator (incl bolts) Option: rotating indicator 1,0
D128 SAP-HOP-MC-HI-END-RAL9005 Subassembly, Middle cover High End RAL9005 (incl. bolts) 1,0
D134 SA-HO-JUNC-EXI Subassembly, Junction box for EX systems Includes calibration board EB-4-LC-21-41 1,0
D153 PTP-A-BRAKE-FO-STST PT-A Footbrake stainless steel (Almeborg) 1,0
D213 MP-IN-61-STST Mounting IT 3000 stainless steel, bead blasted Option: rotating indicator 1,0
D238 HOP-KEYHOLDER-EXI Key holder housing EXi 1,0
D265 HO-A-UNIV-XTRA-RAL3000 Housing Almeborg universal Xtra RAL3000 1,0
D266 HOP-HOL-BA-IN-61-EXI-24AH-STST Battery holder 6100EXi batterij (24Ah) Required with exchange from 16Ah to 24Ah Battery 1,0

Product changes reserved

2/2



